Assignment 2

Implement in Perl QuickSort algorithm (divide-and-conquer)

Divide: The array A[p..r] is partitioned into two nonempty subarrays A[p..q] and A[q+1..r] such that each element of A[p..q] is less than or equal to each element of A[q+1..r]. The index q is computed as part of this procedure.

Conquer: The two subarrays A[p..q] and A[q+1..r] are sorted by recursive calls to quicksort. 

Input: Strings with numbers separated by whitespaces.

Output: Single string of sorted numbers separated by space.

